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NEW QUESTION 1
An enterprise is deploying APIs that utilize a private key and a public key to ensure the connection string is protected. To connect to the API, customers must use
the private key.
Which of the following would BEST secure the REST API connection to the database while preventing the use of a hardcoded string in the request string?

A. Implement a VPN for all APIs.
B. Sign the key with DSA.
C. Deploy MFA for the service accounts.
D. Utilize HMAC for the keys.

Answer: D

Explanation: 
Reference: https://eclipsesource.com/blogs/2016/07/06/keyed-hash-message-authentication-code-in-rest-apis/

NEW QUESTION 2
A disaster recovery team learned of several mistakes that were made during the last disaster recovery parallel test. Computational resources ran out at 70% of
restoration of critical services.
Which of the following should be modified to prevent the issue from reoccurring?

A. Recovery point objective
B. Recovery time objective
C. Mission-essential functions
D. Recovery service level

Answer: B

Explanation: 
Reference: https://www.nakivo.com/blog/disaster-recovery-in-cloud-computing/

NEW QUESTION 3
A security architect works for a manufacturing organization that has many different branch offices. The architect is looking for a way to reduce traffic and ensure
the branch offices receive the latest copy of revoked certificates issued by the CA at the organization’s headquarters location. The solution must also have the
lowest power requirement on the CA.
Which of the following is the BEST solution?
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A. Deploy an RA on each branch office.
B. Use Delta CRLs at the branches.
C. Configure clients to use OCSP.
D. Send the new CRLs by using GPO.

Answer: C

Explanation: 
Reference: https://www.sciencedirect.com/topics/computer-science/revoke-certificate

NEW QUESTION 4
An IT administrator is reviewing all the servers in an organization and notices that a server is missing crucial practice against a recent exploit that could gain root
access.
Which of the following describes the administrator’s discovery?

A. A vulnerability
B. A threat
C. A breach
D. A risk

Answer: A

Explanation: 
Reference: https://www.beyondtrust.com/blog/entry/privilege-escalation-attack-defense-explained

NEW QUESTION 5
In preparation for the holiday season, a company redesigned the system that manages retail sales and moved it to a cloud service provider. The new infrastructure
did not meet the company’s availability requirements. During a postmortem analysis, the following issues were highlighted:
* 1. International users reported latency when images on the web page were initially loading.
* 2. During times of report processing, users reported issues with inventory when attempting to place orders.
* 3. Despite the fact that ten new API servers were added, the load across servers was heavy at peak times.
Which of the following infrastructure design changes would be BEST for the organization to implement to avoid these issues in the future?

A. Serve static content via distributed CDNs, create a read replica of the central database and pull reports from there, and auto-scale API servers based on
performance.
B. Increase the bandwidth for the server that delivers images, use a CDN, change the database to a non-relational database, and split the ten API servers across
two load balancers.
C. Serve images from an object storage bucket with infrequent read times, replicate the database across different regions, and dynamically create API servers
based on load.
D. Serve static-content object storage across different regions, increase the instance size on the managed relational database, and distribute the ten API servers
across multiple regions.

Answer: A

NEW QUESTION 6
A shipping company that is trying to eliminate entire classes of threats is developing an SELinux policy to ensure its custom Android devices are used exclusively
for package tracking.
After compiling and implementing the policy, in which of the following modes must the company ensure the devices are configured to run?

A. Protecting
B. Permissive
C. Enforcing
D. Mandatory

Answer: B

Explanation: 
Reference: https://source.android.com/security/selinux/customize
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NEW QUESTION 7
A company is moving most of its customer-facing production systems to the cloud-facing production systems to the cloud.
IaaS is the service model being used. The Chief Executive Officer is concerned about the type of encryption available and requires the solution must have the
highest level of security.
Which of the following encryption methods should the cloud security engineer select during the implementation phase?

A. Instance-based
B. Storage-based
C. Proxy-based
D. Array controller-based

Answer: A

NEW QUESTION 8
A security analyst notices a number of SIEM events that show the following activity:

Which of the following response actions should the analyst take FIRST?

A. Disable powershell.exe on all Microsoft Windows endpoints.
B. Restart Microsoft Windows Defender.
C. Configure the forward proxy to block 40.90.23.154.
D. Disable local administrator privileges on the endpoints.

Answer: A

NEW QUESTION 9
A vulnerability analyst identified a zero-day vulnerability in a company’s internally developed software. Since the current vulnerability management system does
not have any checks for this vulnerability, an engineer has been asked to create one.
Which of the following would be BEST suited to meet these requirements?

A. ARF
B. ISACs
C. Node.js
D. OVAL

Answer: D

NEW QUESTION 10
A company wants to protect its intellectual property from theft. The company has already applied ACLs and DACs. Which of the following should the company use
to prevent data theft?

A. Watermarking
B. DRM
C. NDA
D. Access logging

Answer: D

NEW QUESTION 10
A security analyst discovered that the company’s WAF was not properly configured. The main web server was breached, and the following payload was found in
one of the malicious requests:

Which of the following would BEST mitigate this vulnerability?
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A. CAPTCHA
B. Input validation
C. Data encoding
D. Network intrusion prevention

Answer: B

Explanation: 
Reference: https://hdivsecurity.com/owasp-xml-external-entities-xxe

NEW QUESTION 12
An organization’s hunt team thinks a persistent threats exists and already has a foothold in the enterprise network.
Which of the following techniques would be BEST for the hunt team to use to entice the adversary to uncover malicious activity?

A. Deploy a SOAR tool.
B. Modify user password history and length requirements.
C. Apply new isolation and segmentation schemes.
D. Implement decoy files on adjacent hosts.

Answer: C

Explanation: 
Reference: https://www.cynet.com/network-attacks/network-attacks-and-network-security-threats/

NEW QUESTION 15
A security analyst is concerned that a malicious piece of code was downloaded on a Linux system. After some research, the analyst determines that the suspected
piece of code is performing a lot of input/ output (I/O) on the disk drive.

Based on the output above, from which of the following process IDs can the analyst begin an investigation?

A. 65
B. 77
C. 83
D. 87

Answer: D

NEW QUESTION 16
A small company recently developed prototype technology for a military program. The company’s security engineer is concerned about potential theft of the newly
developed, proprietary information.
Which of the following should the security engineer do to BEST manage the threats proactively?

A. Join an information-sharing community that is relevant to the company.
B. Leverage the MITRE ATT&CK framework to map the TTR.
C. Use OSINT techniques to evaluate and analyze the threats.
D. Update security awareness training to address new threats, such as best practices for data security.
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Answer: D

NEW QUESTION 21
A security analyst is reviewing the following output:

Which of the following would BEST mitigate this type of attack?

A. Installing a network firewall
B. Placing a WAF inline
C. Implementing an IDS
D. Deploying a honeypot

Answer: A

NEW QUESTION 25
A company is preparing to deploy a global service.
Which of the following must the company do to ensure GDPR compliance? (Choose two.)

A. Inform users regarding what data is stored.
B. Provide opt-in/out for marketing messages.
C. Provide data deletion capabilities.
D. Provide optional data encryption.
E. Grant data access to third parties.
F. Provide alternative authentication techniques.

Answer: AB

Explanation: 
Reference: https://gdpr.eu/compliance-checklist-us-companies/
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NEW QUESTION 26
A company is looking to fortify its cybersecurity defenses and is focusing on its network infrastructure. The solution cannot affect the availability of the company’s
services to ensure false positives do not drop legitimate traffic.
Which of the following would satisfy the requirement?

A. NIDS
B. NIPS
C. WAF
D. Reverse proxy

Answer: B

Explanation: 
Reference: https://subscription.packtpub.com/book/networking-and-servers/9781782174905/5/ch05lvl1sec38/differentiatingbetween-nids-and-nips

NEW QUESTION 28
An energy company is required to report the average pressure of natural gas used over the past quarter. A PLC sends data to a historian server that creates the
required reports.
Which of the following historian server locations will allow the business to get the required reports in an ?? and IT environment?

A. In the ?? environment, use a VPN from the IT environment into the ?? environment.
B. In the ?? environment, allow IT traffic into the ?? environment.
C. In the IT environment, allow PLCs to send data from the ?? environment to the IT environment.
D. Use a screened subnet between the ?? and IT environments.

Answer: A

NEW QUESTION 32
Which of the following allows computation and analysis of data within a ciphertext without knowledge of the plaintext?

A. Lattice-based cryptography
B. Quantum computing
C. Asymmetric cryptography
D. Homomorphic encryption

Answer: C

Explanation: 
Reference: https://searchsecurity.techtarget.com/definition/cryptanalysis

NEW QUESTION 37
Which of the following is a benefit of using steganalysis techniques in forensic response?

A. Breaking a symmetric cipher used in secure voice communications
B. Determining the frequency of unique attacks against DRM-protected media
C. Maintaining chain of custody for acquired evidence
D. Identifying least significant bit encoding of data in a .wav file

Answer: D

Explanation: 
Reference: https://www.garykessler.net/library/fsc_stego.html

NEW QUESTION 39
An organization is designing a network architecture that must meet the following requirements: Users will only be able to access predefined services.
Each user will have a unique allow list defined for access.
The system will construct one-to-one subject/object access paths dynamically.
Which of the following architectural designs should the organization use to meet these requirements?

A. Peer-to-peer secure communications enabled by mobile applications
B. Proxied application data connections enabled by API gateways
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C. Microsegmentation enabled by software-defined networking
D. VLANs enabled by network infrastructure devices

Answer: C

NEW QUESTION 41
A university issues badges through a homegrown identity management system to all staff and students. Each week during the summer, temporary summer school
students arrive and need to be issued a badge to access minimal campus resources.
The security team received a report from an outside auditor indicating the homegrown system is not consistent with best practices in the security field and leaves
the institution vulnerable.
Which of the following should the security team recommend FIRST?

A. Investigating a potential threat identified in logs related to the identity management system
B. Updating the identity management system to use discretionary access control
C. Beginning research on two-factor authentication to later introduce into the identity management system
D. Working with procurement and creating a requirements document to select a new IAM system/vendor

Answer: A

NEW QUESTION 46
A company plans to build an entirely remote workforce that utilizes a cloud-based infrastructure. The Chief Information Security Officer asks the security engineer
to design connectivity to meet the following requirements:
Only users with corporate-owned devices can directly access servers hosted by the cloud provider. The company can control what SaaS applications each
individual user can access. User browser activity can be monitored.
Which of the following solutions would BEST meet these requirements?

A. IAM gateway, MDM, and reverse proxy
B. VPN, CASB, and secure web gateway
C. SSL tunnel, DLP, and host-based firewall
D. API gateway, UEM, and forward proxy

Answer: B

NEW QUESTION 51
An organization recently experienced a ransomware attack. The security team leader is concerned about the attack reoccurring. However, no further security
measures have been implemented.
Which of the following processes can be used to identify potential prevention recommendations?

A. Detection
B. Remediation
C. Preparation
D. Recovery

Answer: A

NEW QUESTION 53
A network architect is designing a new SD-WAN architecture to connect all local sites to a central hub site. The hub is then responsible for redirecting traffic to
public cloud and datacenter applications. The SD-WAN routers are managed through a SaaS, and the same security policy is applied to staff whether working in
the office or at a remote location. The main requirements are the following:
* 1. The network supports core applications that have 99.99% uptime.
* 2. Configuration updates to the SD-WAN routers can only be initiated from the management service.
* 3. Documents downloaded from websites must be scanned for malware.
Which of the following solutions should the network architect implement to meet the requirements?

A. Reverse proxy, stateful firewalls, and VPNs at the local sites
B. IDSs, WAFs, and forward proxy IDS
C. DoS protection at the hub site, mutual certificate authentication, and cloud proxy
D. IPSs at the hub, Layer 4 firewalls, and DLP

Answer: B

NEW QUESTION 56
A company has hired a security architect to address several service outages on the endpoints due to new malware. The Chief Executive Officer’s laptop was
impacted while working from home. The goal is to prevent further endpoint disruption.
The edge network is protected by a web proxy.
Which of the following solutions should the security architect recommend?

A. Replace the current antivirus with an EDR solution.
B. Remove the web proxy and install a UTM appliance.
C. Implement a deny list feature on the endpoints.
D. Add a firewall module on the current antivirus solution.

Answer: C

NEW QUESTION 59
DRAG DROP
An organization is planning for disaster recovery and continuity of operations. INSTRUCTIONS
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Review the following scenarios and instructions. Match each relevant finding to the affected host.
After associating scenario 3 with the appropriate host(s), click the host to select the appropriate corrective action for that finding. Each finding may be used more
than once.
If at any time you would like to bring back the initial state of the simulation, please click the Reset All button. Select and Place:

A.

A. 

Answer: A

NEW QUESTION 60
An analyst execute a vulnerability scan against an internet-facing DNS server and receives the
following report:

Which of the following tools should the analyst use FIRST to validate the most critical vulnerability?

A. Password cracker
B. Port scanner
C. Account enumerator
D. Exploitation framework

Answer: A

NEW QUESTION 63
A health company has reached the physical and computing capabilities in its datacenter, but the computing demand continues to increase. The infrastructure is
fully virtualized and runs custom and commercial healthcare application that process sensitive health and payment information .
Which of the following should the company implement to ensure it can meet the computing demand while complying with healthcare standard for virtualization and
cloud computing?

A. Hybrid IaaS solution in a single-tenancy cloud
B. Pass solution in a multinency cloud
C. SaaS solution in a community cloud
D. Private SaaS solution in a single tenancy cloud.

Answer: D

NEW QUESTION 68
The Chief information Officer (CIO) wants to establish a non-banding agreement with a third party that outlines the objectives of the mutual arrangement dealing
with data transfers between both organizations before establishing a format partnership .
Which of the follow would MOST likely be used?

A. MOU

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy CAS-004 dumps
https://www.2passeasy.com/dumps/CAS-004/ (171 New Questions)

B. OLA
C. NDA
D. SLA

Answer: A

NEW QUESTION 69
Ann, a CIRT member, is conducting incident response activities on a network that consists of several hundred virtual servers and thousands of endpoints and
users. The network generates more than 10,000 log messages per second. The enterprise belong to a large, web-based cryptocurrency startup, Ann has distilled
the relevant information into an easily digestible report for executive management. However, she still needs to collect evidence of the intrusion that caused the
incident .
Which of the following should Ann use to gather the required information?

A. Traffic interceptor log analysis
B. Log reduction and visualization tools
C. Proof of work analysis
D. Ledger analysis software

Answer: B

NEW QUESTION 70
A small company needs to reduce its operating costs. vendors have proposed solutions, which all focus on management of the company’s website and services.
The Chief information Security Officer (CISO) insist all available resources in the proposal must be dedicated, but managing a private cloud is not an option .
Which of the following is the BEST solution for this company?

A. Community cloud service model
B. Multinency SaaS
C. Single-tenancy SaaS
D. On-premises cloud service model

Answer: A

NEW QUESTION 75
A company is repeatedly being breached by hackers who valid credentials. The company’s Chief information Security Officer (CISO) has installed multiple
controls for authenticating users, including biometric and token-based factors. Each successive control has increased overhead and complexity but has failed to
stop further breaches. An external consultant is evaluating the process currently in place to support the authentication controls .
Which of the following recommendation would MOST likely reduce the risk of unauthorized access?

A. Implement strict three-factor authentication.
B. Implement least privilege policies
C. Switch to one-time or all user authorizations.
D. Strengthen identify-proofing procedures

Answer: A

NEW QUESTION 79
......
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